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@If y = sin"x o= 2 O3]
then & — .. ..o,
dx_—— N BT T N AT reeeeneiieess = &5 U\;é
oS
\-
@) nsin™1x (b) nsinx cosx | pl=plov (@ o U\?.fu@
(©ny cotx @ ny cosx sl ov () b 0@
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@Ifx=5t +3,y=16t2+9, ¢ ‘”‘F’\JO:U&\L}\.{\JL
then the value of ? at t=35 *+YU“=U”
X
equals ............ o= we 5 LIL
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Consider the linear functiony = ax + b Tlas Dy Gt b = po i 1)
If x changes at a constant rate :

1 . LS U BEYN) ey ¢
1) Does y change at a constant rate? Explain. S ey 38

ii) Does y change at the same rate as x ? S i € ol Jaey 5 2 J2 (D)
Explain.| ¢ . ;o5 Joae it a8 (o (o (ii)
111)When are the two rates equal? RSP

¢ OVl gl e (i)
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@Ifxzsecz, y =tanz, ¢ g eSS 13
d? :
provethat:d—;=2 ¢ b= Py
(S R R Y=Y
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@ If y= e(xZ—Zx) ;

d
then =2 =
dx

..................

@ e (x%2-2 x)
@ (x — 1)e (x?-2x)
© 2((x=1)e** =22

@ e(2x—2)
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@ Find the two equations of the tangent and the | ¢, el peleadl  Folas g
normal to the curve y = x3 — 181lnx ) )
y Muﬂgﬁ\/\—“u‘=u” o)

v@uw‘s\\.@;\»yu&m

at a point lying on it and its x-coordinate

equals 2 .
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The figure shows a rectangle inscribed Logarye ket 2 JU I
in an isosceles rlght tr1ang1§, in which 2 ol g5l V’b Elia gl
AC =2 length units. What is the largest area Jsb s ¥ P

. j = >
fth le? o
of the rectangle y ¢ e ) dole ST o o
ua
B
C A - "
N > X | v M 7 Voo
X -1 o 1
Y /&
N
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Let f be the function given by i dl> > IS
f(x) =300x— x3, e = ()
then f isincreasingin .................. |- RN 0SS B0
(@) ]-0,10[ and ]10,00 [ Joo o\ []V+ c oo (D)
® 1-10,10] oo ©
(© 10,10[ only L ]\ Lie[ ()
@ 10,0[ Joo e yao[ ()
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@ Let f be a differentiable function, defined
for all real numbers X , with the following

properties:

i) f (x) = ax? + bx, where @ and b

are real numbers.
i) f (1)=6 and f (1) =18
iii) fff(x) dx =18,

find f (x)

Slail A Bl 5> sl 1)
Aol o @ pend 43yme
AW a5lasd! s
oot ol =() > (V)

.~ L1 N
ddd>slasl O P s

-

A= (V)BT =(V)B(Y)
Y

W= 8 <u~>>1 (¥)

\

Dt B
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@Find ) °|x — 3| dx (write your steps) °
0 uﬂ5|“—u~|'\‘ s

(Jod S glas LASY)
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@ Let f be the function given by :

f(x) = x2e* where k is constant.

FCIveRy-{ IR (R K|

b @ T = ()

. .. . 2
If the function f has a critical point at x = 5> %: o s Ay Ao DIl OIS
thenk=............. |, = &y

_3 v
@ -3 2 Y
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Let f be the function defined by R G L]
_ fo - o 52

fx) = . , then the absolute maximum el OB > ()

value of fis ..o A s A1 aElad s

-

@ 1 N0
® — =
© -e PENS)

(@ f does not have an absolute maximum value | e .dae ded\d d 5 (3)
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@ Answer only one of the following two questions: | ,sazs -\ 30 3t dn§ oo

(A) The graph below is that of the function : S e ()
fx)=ax®>+bx*+cx +d, DI e

where a, b , ¢ and d are constants. Show

Y Y
that x-coordinates of the two marked Stortoetot=()

points M and N are given by the formula B ey JGes
— b +Vb? -3 ac SN | I { RN B R
3a ) "’ U‘C ':!aa‘“
v1 ;a3 G\a—u
M = P Yoo \» to—
< * = Ug
\ Py
I\
\/
dN v
N L
o X
A \
' \
\.
(B) Find the absolute extrema values of the A =
function / where:

fx)=10xe™, x € [o, 4]
alladl) g yuadl) ) st ()
E- > Al

w_—hu"\‘ = (u“)b

[ic~ ] Bu-uc
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The volume of the solid generated by dabaidl Ol y 95 oy £ S el o2
revolving the region enclosed by the curve Gt = 2 el e by sl
y = 3x? and the line y = 6 x a complete g AW 55 = i)
revolution about the x — axisis equal to : ...

QUATID Ly 3= _— 63\.“.; CL)\.L:‘J\J?LA
3 (- e \ T
@) nf0(6x—3x2)2dx o5 (= )’\,. O
;
Yoy
® nf02(6x—3x2)2dx oS (“M‘_uﬂ)’\, T @
Y 3 \
© nfoz (9x* — 36x?) dx 0”5(“’”‘“‘_“‘\)’\_ T S
v
¢ Y
@ nfoz (36x% —9x*) dx Wj(uﬂﬂ_wﬁ).\_ n @
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@ The area of the region bounded

by the two curves y = x? and ¥ = |x|

O 83 39a)l dalatad) A Lue

| or [ =02 e = 02 o))
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-
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Answer only one of the following two questions: | , g.za -, (31 ;o 3t dni 2 i

(A) Use integration by parts to find: sl (g 52L JelS) St (0
3
[ x3 Inx dx u‘5u‘§“u~.\_
(B) Find [ 3x V1 + x2 dx

o5 Tt oY \ syl (<)
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